.
50( N e ==
45}
a0l
35F
30F
25F
20F

# of correct responses

15
10F

oL 1 1
congruent condition incongruent condition

Figure S2. The number of correct responses students’ made in congruent versus

incongruent conditions. Red horizontal bars of the boxplots represent the median. The upper
line of the box represents the 75th percentile and the lower line of the box represents the 25th
percentile of the number of correct responses. Upper whiskers represent the greatest
observation and the lower whiskers represent the smaller observation in each task. Open
circles represent the individual data points that are shown in blue for congruent and red for
incongruent conditions.



